F/2017/6171 Total Pages : 8

rgpvonline.com

THIRD SEMESTER
CIVIL/CTM
FOURTHSEMESTER
PTDC CIVIL
SURVEYING

Time : Three Hours Maximum Marks : 100

Note : i) Atiempt total five questions out of eight.
Por 1S | UTd 0T Y gel DY

ii) Incase of any doubt or dispute, the english
version question should be treated as final.

fopefY oft R & wig sreran faang B Ry A
ST 7T & e Y Jiferd AT S
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1. a) Define Surveying. What is the object of survey?

3
T @ ufeTRia @Rl g7 39 Sued faRad
b) What are the ideal, Well shaped and ill shaped
triangle in chain sutveying?

SR e ¥ e, meﬁw
FAT R § 7

¢) Explain the primary classification of survey. 6

et & uRfves aiffer & A foraam Tssdl
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d) Describe the methods of measuring length of a

line on sloping ground., 8
BT STHIA 1R Teh N7 it eiag =T Y it} e
CUEEINIY

2. a) Draw the conventional symbol of following: 3
i) Railway line
1) Metalled road
iii) Orchard
Frferfaa & weftes forg Sfifr
) X g
ii) Ul 15
i) sfrar

b) Explainthe 3,4, 5 method of taking perpendicular.

rgpvonline.com 3

o g B 3, 4, 5 At wERA

¢) Define following lines with neat sketch 6
i} Baseline
i1) Check line
ii1) Tie line

PR Yol @ Rt wfder afom ST
i) YR @
ii) Reror v
iii) ST XGT
rgpvonline.com Contd.....

F/2017/6171



d)

b)

c)

(3)
rgpvonline.com
Draw a rough sketch of the following cross staff

survey of a field MNOPQRSM and calculate its
area. All distances are given in meters. 8

T 85 MNOPQRSM o fAmfeiRaeT 7 Wk 30 &
forg forst aeram &aher s1Ta HIRRN Tt Jrg Hex #)

850 Q
650 105P
R9Q 490
300 1020
S90 220
120 25N
00 M rgpvonline.com

What is local Attraction and how 1t is detected
and eliminate? 3

T SRS &R B TR R BT e ¥ foban ot
8?
Explain different systems of bearing, 3

ez < faifrer wgfRral ot wHTE |

Describe method of temporary adjustment of

dupmy level. 6
et eraet 3 s e G fafer o aufe iRl
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d) Correct the following bearing for iocal
attraction.
FrafeReaa e ot wIg ameor & o %‘é’r
R -
Line Fore Bearing Back Bearing
T 3 RemmH geq g™
AB 50° 45 230° 00’
BC 180° 15 00° 15
CD 102° 30° 282° 00’
DE 164° 00’ 345° 30'
EA 250° 15’ 70° 00
a) Deflme the following:- rgpvonline.com 3
1) Reducelevel -
11) Height of instrument
1i1) Change point
fopt ol aRaIfS i
i) quria aer
i) IYPRY TS
i) o Rig
b) Convert the following bearing from one system
to another,
frferRaa e @t e gl @ g ugfar ﬁf
agferd
i) 0° i) 145° 30’ i11)230°
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b)

d)
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Write down the characteristics of contour. 6
e Y@ & o7 fARe |
Describe field procedure of profile leveling and

cross sectioning. 8

AT IR SR Ud Srgae dateior @l & i
ffey epr aofsr HIRRAN

What is meant by contour interval? Name the
factors that govern the selection of contour
interval. rgpvonline.com 3

TH e SicRIeT I 37U FT A 81 ? [AHIeT 3R
Prerff et o £ A T ST dTet Rl o AT

e
Explain GT.S. Bench mark and temporary B.M. 3

oit 21 v, qet g U s det g @ aEed|
Give the classification of leveling and explain
fly and check leveling. 6

ToreruT o7 giffepeur HIRTY Td IS Ud ST dET
! AR |

Following consecutive readings were taken with a
level and 4m leveling staff on a continuously
sloping ground at common interval of 30m. The
RL of A was 350.800m. Make a page of level book.
calculate RL of all points and apply usual checks.
0.585 on A 1.245, 2.580, 3.275, 0.995, 2.650,
3.880, 1.565, 2.225, 2.885 and 3.655on B.- 8
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fPrfiRae urowie Te SR gre] S or SRy
oraet quT 4 Y, delervT o 6 Ear | 30 &
sierre W ford 11 A fiig &1 FAr et 350,800
&, cTeleor ot @7 Ot ST, at figatt o e
ot & uET @R it ST iR

0.585 on A 1.245, 2.580, 3.275, 0.995, 2.650,
3.880, 1.565, 2.225, 2.885 and 3.655 on B.
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If the staff reading with the help of dumpy level
at point having R.L.84.535m is 1.235, calculate
the R.L. Of another point having staff reading
2.545. 3

21t 84.535 1, A deEret fig W st e
&Y FEar Tern ST 1.235 8, @ 2.545 Ui

aret g @1 gl e F SRt

b) Wirite down the formula for calculating reservoir
capacity. 3
SeTTerT B GTRaT S @ & G fARa |

¢) Name the methods of contour interpolation and
explain any one. 6
e aiader $ fafeat & M foraa fossit t
T guiT BT
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Following are the bearings of a close traverse,
Calculate the included angle 8
T T HIAT X1 3 @it & [ fyasgaes g
1Y TR S feiRed 81 Sn STl ST S |

Line Fore bearing
el GORTCRIT]
AB 60°30'
BC 122°0'
CD 46°0'
DE 205°30'
EA 300°

How will you draw section on contour map. 3
WAITY T IR STHIT D PIC b g ?

Differentiate between direct and indirect method
of contouring.

Wi@mﬁw&wmﬁﬁrﬁm%@m

Describe the construction and working of an
optical square.  rgpvonline.com 6

vieprefTer fa o fomfor oar erivomett @ qof AR

The area of a figure drawn to a scale of 10m to'lcm
was measured by a planimeter with the anchor point
outsight. The fracing arm being set to the natural
scale. The initial and final readings were 6.582 and
4.698 respectively. The dial passed the fixed index

mark once in the clock wise direction. Calculate

the area of the figure. Given C =20 8
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[0¥IeR = | Q4. & Whdl R Wit 7 [T el
&Y HI9T 7| CRAT ST &Y AT et W) o
e wrar g1 Rfyes e 3ifo uraier HeT 6.582
AT 4.698 9| Tl FT T (RR YIAF B (@ IR
Ierct fem & TRt | i 1 S ST DR
f&am T g C =20

a) Name the different parts of a dumpy level with
their use, 3+3
St ogel & IFUd & AT IP SN |
forRaan rgpvonline.com

b) Enlist the instrument used in chain survey with
their use. 6
oA e § SR AW arel SUgRel B AW
I IuanT [ige forlau)

c) Howisa chain and compass survey of a given
area executed? How it is plotted. 8
SN d S e $R v §7 30 ofie w
feror @A &t fafey @1 aufe HIfR
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